A Te DX ShHeEE o FH

1 Rt xHhHE O R HE

=

E

=

=

I=|

=8

AN e

% H

eRANE

Tk 3 — 1

(1) Bl YFERIT. SMT7TEFERTELETLZZLEARELTEH
D, BElcHHoOEEFTEILEL WD, S%ERBOICH A
ERBZH LTS e, AIIEBEDODEE ZRD LHH D
Th b,
<R EoOME > (K¥H:5H1H)
G 2 FEE 1 28 A
4 3 FEE 109 A
G 4 FEE 1 02A
G 5 A 9 0 A
G 6 4 4 2 A
(2) HHE & (% % A ) wmAEHR 215 A
FlH E B 6 0 A
(& % %) WAEER 215 A
A E B 35 A
<AHAR>1 5K
iifi 3 7% 3 7% 4 % 5 i G
P A 0 0 15 15 30
%W % 0 0 0 15 15
=) 0 0 A1 5 0O | A15
<HWR>25H - 35K
0 7% 1 % 2 % 3 ik 4 % 5 i% &
& Wi 0 5 5 0 10 1 30
W 1% 0 5 5 0 0 1 20
g 0 0 0 0 A10 A10
(3) ZEMELH +SM74H# 47 1H
ok




